o(d dxy) (cm)

Ratio

o(d @) (rad)

1072

Ratio

1 2 3

o(d dz) (cm)

Rati

N

sat.p ..
T

I q 5 b -+ 5
_‘? q -4 -
H: IS + 4
H: == T -4
1_. ES e - A 4T+ [ T
0 A » ;A
i i i i i

—=— DQM_mkFit_baseline_lowPT
—e— DQM_mkFit_baseline6iter_lowPT

—— DQM_mkFit_TT_RetrainV2_WP1_6iter_ep3_lowPT

1 2 3
TP ® (PCA to beamline)

o p_/p.)

Ratio

1

: ] g A
: ] : + |+
H-o- - eb-t- -{-
H: H | 4
H: -4 ] ; :
0| [+ T 11T : g +
H. E o .

p : E 30 -+

& 1 o+ i

i i il 14 |- | i

0 1 2 3
TP ® (PCA to beamline)



	Contents
	Page 1


